Unit # 2- ABSOLUTISM IN WESTERN EUROPE: C. 1589-1715, CONSTITUTIONALISM IN WESTERN EUROPE: C. 1600-1725,

ABSOLUTISM IN EASTERN EUROPE: C. 1600-1740, and SCIENTIFIC REVOLUTION AND ENLIGHTENMENT

1. During the great witchcraft persecutions of the sixteenth
and seventeenth centuries, those most often tried as
witches were:

a. young girls

b. young boys

c. older women

d. members of the clergy

e. members of the aristocracy

2. Johannes Kepler improved on Copernicus' theories by:
a. introducing the concept of heliocentrism
b. demonstrating the laws of gravitational attraction
c. being the first to question the theory of crystalline
spheres
d. demonstrating that planets have elliptical orbits
e. charting the epicycles of the planets

3. What area of Europe was generally the most tolerant,
attracting skilled artisans and intellectuals?

a. France

b. Great Britain

c. Poland

d. Netherlands

e. Spain

4. Empiricism as related to the Scientific Revolution can be
defined as:

a. logical deduction from known principles

b. reliance on sensory observation to gather data

c. controlled and systematic experiments

d. use of mathematics to devise universal scientific laws

e. the rejection of positive knowledge in favor of
skepticism
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5. The shaded areas of the map of early eighteenth-century
France shown above represent:

a. lands controlled by peasants revolting against feudal
obligations

b. territorial acquisitions during the reign of Louis XIV

c. land controlled by foreign rulers within the kingdom of
France

d. Huguenot strongholds that still existed after the
revocation of the Edict of Nantes

e. former Spanish territories on the border of France

argue that the Moon:
a. has no phases
b. has an irregular surface
c. is one of the planets
d. does not revolve around the Earth
e. is illuminated by Mars

7. The great scientific discoveries of the sixteenth and
seventeenth centuries led European scholars to believe
that:

a. everything in nature and society operated in ways
similar to those of a living organism

b. the universe was orderly and operated according to
fixed rules

c. religious tradition formed the basis for all scientific
truths and assumptions

d. the experimental method was an unreliable vehicle for
scientific inquiry

e. only that which could be seen and examined was real

8. Which of the following is true of Cardinal Richelieu
(1585-1642)?

a. He led the French church in opposition to the
monarchy.

b. He expelled the Huguenots from France.

c. He strengthened the intendant method of local
government.

d. He effectively abolished the sale of offices and tax
farming in France.

e. He supported the French nobility against the
monarchy.

9. In the second half of the seventeenth century, which of
the following countries dominated European culture,
politics, and diplomacy?
a. England b. Spain
d. France e. Prussia

c. Russia

10. Which of the following was a primary result of the
Glorious Revolution of 16887

a. the establishment of universal male suffrage

b. the restoration of Roman Catholicism to both England
and Scotland

c. the limitation of the monarchy's power

d. the execution of James Il

e. the triumph of Puritanism




European Population Data (in millions)

Year 1300 1500 1550 1600 1650 1700
England 3.5 2.8 3 4 5 5.8
France 15 16 18 19
Italy 8 6 11 13 12 125
Spain 8.3 6.3 7.6 5.2 7
Russia 9 11 9.5 16
All Europe 75 60 85 100 80 100

11. Which of the following can be concluded from the chart above?
a. Overall European population fluctuated between periods of growth and decline.
b. Spain's population decline was closely related to its persecution of religious minorities.
c. Italy experienced the greatest percentage population increase in the period.
d. Continuous war led to a massive decline in population from 1550-1700.
e. Renaissance improvements in medicine account for the sixteenth-century population increase.

12. John Locke based his Two Treatises on Government
primarily on which of the following views of human nature?

a. People are basically rational and learn from practical
experience.

b. People are weak and sinful and need the guidance
of organized religion.

c. People are fallible and need guidance from the
cumulative wisdom of tradition.

d. People are quarrelsome and should be encouraged
to revolt against state authority.

e. People are born with all knowledge, and learning is
the process of remembering innate ideas.

13. Which of the following characterized European warfare
between the Peace of Utrecht (1713) and the outbreak of
the French Revolution (1789)?

a. standing armies pursuing limited strategic goals

b. citizen armies fighting for their native lands

c. feudal armies fighting for their lords

d. mass armies pursuing global strategies

e. highly mobile armies unhampered by traditional
defenses

14. In seventeenth- and eighteenth-century Prussia, the
Junkers supported the monarchy and served in the army in
return for:

a. the right to sell their lands

b. control of an independent national parliament

c. toleration of their religious diversity

d. exemption from all taxes

e. virtually absolute power over their serfs

15. According to the theory of mercantilism, colonies should be
a. granted independence as soon as possible
b. acquired as markets and sources of raw materials
c. considered an economic burden for the colonial power
d. used as settlement areas for surplus populations
e. encouraged to develop their own industries

16. Which of the following was the most significant
challenge faced by the Austrian Habsburgs after 1648?
a. loss of major territories to the Spanish Habsburgs
b. the difficulty of centralizing a multi-ethnic empire
c. continual raids by Muslim pirates in the Mediterranean
d. Russian efforts to expand in the Baltic
e. French aggression in the Seven Years War (1756-63)

17. Poland's decline as a major political entity during the
seventeenth century can be attributed largely to:

a. the failure of the papacy to recognize the legitimacy of the
Polish kings

b. a population decline resulting from the Thirty Years' War

c. the conquest of the kingdom by the Ottoman Turks

d. failure of universities to create a literate aristocracy

e. the absence of a powerful central authority

18. Which set of states was in serious decline during the
eighteenth century?

a. Sweden, Austria, Prussia

b. Poland, Britain, and Ottoman Empire

¢. Sweden, Poland, and Ottoman Empire

d. Poland, Ottoman Empire, and Prussia

e. Russia, France, and Netherlands

19. Which of the following was NOT an accomplishment carried
out by Peter the Great of Russia?

a. assertion of control over boyars

b. secular control of Orthodox Church

¢. acquisition of Poland

d. building of St. Petersburg

e. defeat of Swedes and Ottomans

20. Mercantilist economic policies can best be described as:
a. state intervention to achieve positive trade balances
b. laissez-faire
c. avoidance of imperial responsibilities
d. hostility to innovation
e. focus on agricultural development

21. The War of Spanish Succession ended with:
a. the Habsburgs reigning in Spain
b. Louis XIV's grandson as king of Spain
c. Silesia granted to Frederick Il
d. ltaly united under French rule
e. Britain withdrawing from its colonies
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22. The Dutch Republic rose to prominence in seventeenth-
century Europe because of which of the following factors?
a. Its agricultural innovations
b. Its military strength
c. Its literary creativity
d. Its religious unity
e. Its shipping and commerce

23. Which of the following best explains the decline of
Sweden as a major European power in the early eighteenth
century?

a. a series of weak leaders who led the nation into
bankruptcy

b. significant population decline due to famine and
disease

c. internal religious conflict between Lutherans and
Calvinists

d. Prussian invasion and occupation of the country

e. rivalry with the larger and more resource-rich Russia

24. Which of the following represents the final defeat of
efforts by the Ottoman Empire to acquire large areas of
central Europe?

a. The battle of Poltava (1709)

b. The battle of Lepanto (1571)

c. The battle of Nordlingen (1634)

d. The siege of Vienna (1683)

e. The fall of Constantinople (1453)

“Since my accession to the throne, | have very been
anxious to conquer prejudices and to gain the confidence of
my people. | granted toleration, and removed the yoke
which had oppressed Protestants for centuries. Tolerance
is a convincing proof of the improvement of the human
mind.”

25. The author of the quotation above was most likely a
a. German ruler who had declared for Lutheranism
b. monarch devoted to the concept of absolutism
c. ruler influenced by Enlightenment precepts
d. sixteenth-century Russian tsar
e. Catholic ruler in the time of the Catholic Reformation

26. A major result of the War of Spanish Succession (1701-
1713) and the Treaty of Utrecht (1713-1714) was to

a. unite the Spanish and French thrones under a
Bourbon ruler

b. finalize the decline of the British navy after a short-
lived domination

c. cause a long-term decline in international commerce
and trade

d. introduce significant new developments in weapons
and warfare

e. prevent France from upsetting the balance of power

27. The Social Contract, published in 1762, was written by:
a. Turgot b. Necker c. Diderot
d. Beccaria e. Rousseau

28. The above painting by Jan Vermeer illustrates which of
the following about Dutch society in the seventeenth
century:

a. the Dutch monarchy's taste for elegance and power in
art

b. the prosperity of the Dutch and their celebration of
domesticity

c. the involvement of Dutch women in scientific research

d. the sacrifices made by families during the war against
Spain for independence

e. the relative poverty of the Dutch upper class

29. Which of the following is most closely associated with
Baroque art?

a. Calvinist ideas regarding predestination

b. the development of republican government

c. voyages of exploration and global trade

d. the mechanistic concepts of the Scientific Revolution

e. Roman Catholic efforts to reinvigorate spirituality

30. "The law is the expression of the general will. All
citizens have a right to concur either personally or by their
representatives in its formation. The law should be the
same for all, whether it protects of whether it punishes."
The quotation above is a formulation of the ideas of:

a. Frederick the Great

b. Jean-Jacques Rousseau

¢. Adam Smith

d. Condorcet

e. Voltaire




